

Autoconvolution equations and generalized Mittag-Leffler functions

S. Eshaghi ^{*}, A. Ansari ^{†‡}

Abstract

This article is devoted to study of the autoconvolution equations and generalized Mittag-Leffler functions. These types of equations are given in terms of the Laplace transform convolution of a function with itself. We state new classes of the autoconvolution equations of the first kind and show that the generalized Mittag-Leffler functions are solutions of these types of equations. In view of the inverse Laplace transform, we use the Schouten-Vanderpol theorem to establish an autoconvolution equation for the generalized Mittag-Leffler functions in terms of the Laplace and Mellin transforms. Also, in special cases we reduce the solutions of the introduced autoconvolution equations with respect to the Volterra μ -functions. Moreover, more new autoconvolution equations are shown using the Laplace transforms of generalized Mittag-Leffler functions. Finally, as an application of the autoconvolution equations in thermodynamic systems, we apply the Laplace transform for solving the Boltzmann equation and show its solution in terms of generalized Mittag-Leffler functions.

Keywords : Mittag-leffler function; Volterra function; Autoconvolution equations; Boltzmann equation.

1 Introduction and Preliminaries

1.1 The generalized Mittag-Leffler function

IN year 1971, Prabhakar introduced the generalized Mittag-Leffler function on his study on singular integral equations as follows [23]

$$E_{\mu,\nu}^{\lambda}(z) = \sum_{k=0}^{\infty} \frac{(\lambda)_k}{\Gamma(\mu k + \nu)} \frac{z^k}{k!}, \quad (1.1)$$

$$\lambda, \mu, \nu \in \mathbb{C}, \Re(\mu) > 0,$$

where $(\lambda)_k$ is the Pochhammer symbol [11]

$$(\lambda)_0 = 1,$$

$$(\lambda)_k = \lambda(\lambda + 1) \dots (\lambda + k - 1), \quad k = 1, 2, \dots$$

For $\lambda = 1$, we get the two-parameter Mittag-Leffler function $E_{\mu,\nu}(z)$ defined by

$$E_{\mu,\nu}(z) := E_{\mu,\nu}^1(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\mu k + \nu)}, \quad (1.2)$$

$$\mu, \nu \in \mathbb{C}, \Re(\mu) > 0,$$

in addition, for $\lambda = \nu = 1$, this function coincides with the classical Mittag-Leffler function $E_{\mu}(z)$ [21, 22]

$$E_{\mu}(z) := E_{\mu,1}^1(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\mu k + 1)}, \quad (1.3)$$

where $\mu \in \mathbb{C}, \Re(\mu) > 0$.

Recently, many researchers have established

^{*}Department of Applied Mathematics, Faculty of Mathematical Sciences, Shahrekord University, P.O. Box 115, Shahrekord, Iran.

[†]Corresponding author. alireza_1038@yahoo.com

[‡]Department of Applied Mathematics, Faculty of Mathematical Sciences, Shahrekord University, P.O. Box 115, Shahrekord, Iran.

many contributions on the generalized Mittag-Leffler function especially in the theory of fractional calculus and detect some of their applications in the physics and engineering. For example, new definitions of generalized fractional derivatives were introduced and solutions of the Cauchy-type initial and boundary value problems were expressed in terms of the generalized Mittag-Leffler function [12, 13, 14, 15, 16, 17, 18, 19, 20], [25, 26, 27].

1.2 The autoconvolution equations

One of the interesting functional equations which their solutions can be led to the generalized Mittag-Leffler functions are autoconvolution equations [30, 31]. These types of equations have been developed much less in the literature and are classified in three kinds. We consider the following form of the first kind

$$\rho(xz * x^{p-1}) = \gamma(z * z) + \delta(z * x^p), \tag{1.4}$$

where $*$ is the Laplace convolution integral given by

$$(f * g)(t) = \int_0^t f(t - \xi)g(\xi)d\xi. \tag{1.5}$$

For more details in the autoconvolution equations and other forms of them see [2, 3, 4, 5, 6], [29].

1.3 Aims

The purpose of this paper is to obtain solutions of the autoconvolution equations in terms of the generalized Mittag-Leffler functions $E_{\mu,\nu}^\lambda(z)$. Also, in the particular case we reduce the solution of these equations to the Volterra μ -functions. Finally, as an application of this technique we survey the Boltzmann equation and get its solution in terms of the generalized Mittag-Leffler functions.

2 Autoconvolution equations for generalized Mittag-Leffler function

In this section, we recall the Schouten-Vanderpol theorem for the inverse Laplace transform and present a class of the autoconvolution equations. Next, using this theorem we show that

the solution can be expressed as the generalized Mittag-Leffler functions. Also, in special case the solution is reduced to the Volterra μ -function.

Theorem 2.1 (Schouten-Vanderpol Theorem) *Let $F(s)$ and $\phi(s)$ be analytic functions in half plane $\Re(s) > c$, then, the inverse Laplace transform of $F(\phi(s))$ is given by [1]*

$$\begin{aligned} \mathcal{L}^{-1}\{F(\phi(s)); x\} &= \int_0^\infty f(t)\mathcal{L}^{-1}\{e^{-t\phi(s)}; x\}dt, \end{aligned} \tag{2.6}$$

where $F(s)$ is the Laplace transform $f(x)$

$$F(s) = \int_0^\infty f(t)e^{-ts}dt. \tag{2.7}$$

Lemma 2.1 *The Laplace transforms of generalized Mittag-Leffler function (1.1) has the following form [23]*

$$\mathcal{L}[x^{\nu-1}E_{\mu,\nu}^\lambda(\omega x^\mu)](s) = \frac{s^{\lambda\mu-\nu}}{(s^\mu - \omega)^\lambda}, \tag{2.8}$$

where $\lambda, \mu, \omega \in \mathbb{C}$, $\Re(\nu), \Re(s) > 0$ and $|\frac{\omega}{s^\mu}| < 1$.

Theorem 2.2 *The solution of the following autoconvolution equation of the first kind is the generalized Mittag-Leffler function*

$$\rho(xz * x^{p-1}) = \gamma(z * z) + \delta(z * x^p), \tag{2.9}$$

$$x > 0, \gamma > 0, \rho > -1, \delta \in \mathbb{R},$$

where

$$z(x) = \mathcal{M}[\mathcal{L}^{-1}(e^{-\tau\mathcal{L}\{y(x);s\}}); \tau \rightarrow \alpha], \tag{2.10}$$

and notation \mathcal{M} is the Mellin transform

$$F(\alpha) = \mathcal{M}\{f(\tau); \alpha\} = \int_0^\infty \tau^{\alpha-1}f(\tau)d\tau. \tag{2.11}$$

Proof. First, we evaluate the laplace transform of function $z(x)$ using the Schouten-Vanderpol theorem as

$$\begin{aligned} \mathcal{L}\{z(x); s\} &= \int_0^\infty \tau^{\alpha-1}e^{-\tau Y(s)}d\tau \\ &= \mathcal{L}\{\tau^{\alpha-1}; Y(s)\} \\ &= \Gamma(\alpha)Y^{-\alpha}(s). \end{aligned} \tag{2.12}$$

Also, we use the following properties of the Laplace transform

$$\begin{aligned} \mathcal{L}\left\{\int_0^t f(t - \xi)g(\xi)d\xi; s\right\} &= \mathcal{L}\{f(t); s\}\mathcal{L}\{g(t); s\}, \end{aligned} \tag{2.13}$$

$$\begin{aligned} &\mathcal{L}\{x^n f(x); s\} \\ &= (-1)^n \frac{d^n}{ds^n} \mathcal{L}\{f(t); s\}, \quad n \in \mathbb{N}, \end{aligned} \quad (2.14)$$

and apply the Laplace transform on (2.9) to get the following Bernoulli differential equation

$$\begin{aligned} &-\rho \frac{d}{ds} [\Gamma(\alpha) Y^{-\alpha}(s)] \frac{\Gamma(\rho)}{s^\rho} \\ &= \gamma [\Gamma(\alpha) Y^{-\alpha}(s)]^2 \\ &+ \delta [\Gamma(\alpha) Y^{-\alpha}(s)] \frac{\Gamma(\rho+1)}{s^{\rho+1}}, \end{aligned} \quad (2.15)$$

or equivalently

$$(Y^{-\alpha})'(s) + \frac{\delta}{s} Y^{-\alpha}(s) + \gamma_0 s^\rho (Y^{-\alpha})^2(s) = 0, \quad (2.16)$$

where $\gamma_0 = \frac{\gamma \Gamma(\alpha)}{\Gamma(\rho+1)}$, and Y is the Laplace transform of y . When $\delta \neq 1 + \rho$, the general solution of the above equation is

$$\begin{aligned} Y(s) &= \left(\frac{\rho - \delta + 1}{\gamma_0}\right)^{-\frac{1}{\alpha}} \times \left(\frac{1}{s^\delta}\right)^{-\frac{1}{\alpha}} \\ &\times \left(\frac{1}{s^{\rho-\delta+1} - C}\right)^{-\frac{1}{\alpha}}, \quad C \in \mathbb{R}, \end{aligned} \quad (2.17)$$

or equivalently by setting $C = \frac{1}{K}$ for $K \neq 0$ we have

$$\begin{aligned} Y(s) &= \left(\frac{\delta - 1 - \rho}{\gamma_0}\right)^{-\frac{1}{\alpha}} \times \left(\frac{1}{s^{1+\rho}}\right)^{-\frac{1}{\alpha}} \\ &\times \left(\frac{K}{s^{\delta-1-\rho} - K}\right)^{-\frac{1}{\alpha}}, \quad K \in \mathbb{R}. \end{aligned} \quad (2.18)$$

When $C = 0$, the solution of (2.17) takes the form

$$y(x) = \frac{1}{\Gamma(-\frac{\rho+1}{\alpha})} \left(\frac{\rho - \delta + 1}{\gamma_0}\right)^{-\frac{1}{\alpha}} x^{-\frac{\rho+1}{\alpha}-1},$$

and for $K = 0$, the relation (2.18) gives the trivial solution $y = 0$.

Now, by using the relation (2.8) in subcase $\delta < 1 + \rho$ of (2.17), we obtain the general solution of (2.9) as follows

$$\begin{aligned} y(x) &= \left(\frac{1 + \rho - \delta}{\gamma_0}\right)^{-\frac{1}{\alpha}} x^{-\frac{\rho+1}{\alpha}-1} \\ &\times E_{1+\rho-\delta, -\frac{\rho+1}{\alpha}}^{-\frac{1}{\alpha}}(Cx^{1+\rho-\delta}), \quad C \in \mathbb{R}, \end{aligned} \quad (2.19)$$

and in the subcase $\delta > 1 + \rho$, we get

$$\begin{aligned} y(x) &= K^{-\frac{1}{\alpha}} \left(\frac{\delta - 1 - \rho}{\gamma_0}\right)^{-\frac{1}{\alpha}} x^{-\frac{\delta}{\alpha}-1} \\ &\times E_{\delta-1-\rho, -\frac{\delta}{\alpha}}^{-\frac{1}{\alpha}}(Kx^{\delta-1-\rho}), \quad K \in \mathbb{R}. \end{aligned} \quad (2.20)$$

Corollary 2.1 In the case $\delta = 1 + \rho$, the equation (2.16) gives the solution

$$Y(s) = \left(\frac{1}{\gamma_0 \ln(s) + K}\right)^{-\frac{1}{\alpha}} \left(\frac{1}{s^\delta}\right)^{-\frac{1}{\alpha}}. \quad (2.21)$$

By putting $K = \gamma_0 \ln \alpha_0$, $\alpha_0 > 0$, we have

$$\begin{aligned} Y(s) &= \left(\frac{1}{\gamma_0 \ln(\alpha_0 s)}\right)^{-\frac{1}{\alpha}} \left(\frac{1}{s^\delta}\right)^{-\frac{1}{\alpha}}, \quad (2.22) \\ &\delta = 1 + \rho, \quad \rho > 0, \end{aligned}$$

which has the general solution

$$\begin{aligned} y(x) &= (\gamma_0)^{\frac{1}{\alpha}} \frac{1}{\alpha_0^{\frac{\rho+1}{\alpha}+1}} \\ &\times \mu\left(\frac{x}{\alpha_0}, -\frac{1}{\alpha} - 1, -\frac{\rho+1}{\alpha} - 1\right), \end{aligned} \quad (2.23)$$

where μ is the Volterra μ -function [11]

$$\begin{aligned} \mu(z, \alpha, \beta) &= \int_0^\infty \frac{z^{u+\alpha} w^\beta}{\Gamma(\beta+1)\Gamma(u+\alpha+1)} du, \\ \Re(\beta) &> -1. \end{aligned}$$

3 More autoconvolution equations

Now we note another classes of autoconvolution equations.

Theorem 3.1 For $x > 0$, the solution of the following autoconvolution equation

$$\begin{aligned} &(xy * x^{\mu(\lambda+1)-2} E_{\mu, \mu(\lambda+1)-1}^\lambda(-x^\mu)) \\ &= (y * y) \\ &+ \mu\lambda \left(y * x^{\mu(\lambda+1)-1} E_{\mu, \mu(\lambda+1)}^{\lambda+1}(-x^\mu)\right), \end{aligned} \quad (3.1)$$

is the generalized Mittag-Leffler function, where λ and μ are complex numbers.

Proof. We apply the Laplace transform on the above equation and use the mentioned properties for the Laplace transform (2.13) and (2.14), and Lemma 2.1 to get

$$\begin{aligned} &\frac{1}{s^{\mu-1}(s^\mu+1)^\lambda} Y'(s) \\ &+ \frac{\mu\lambda}{(s^\mu+1)^{\lambda+1}} Y(s) = -Y^2(s), \end{aligned} \quad (3.2)$$

or

$$Y'(s) + \mu\lambda \frac{s^{\mu-1}}{s^\mu + 1} Y(s) + s^{\mu-1}(s^\mu + 1)^\lambda Y^2(s) = 0, \tag{3.3}$$

that is a Bernoulli differential equation and has the following general solution for $k \neq 0$

$$Y(s) = \mu \frac{1}{(s^\mu + 1)^\lambda} \frac{1}{s^\mu + \mu k}. \tag{3.4}$$

Now, by expanding the fraction

$$\frac{1}{s^\mu + \mu k}, \quad |\mu k| < |s^\mu|,$$

we can easily get

$$Y(s) = \sum_{n=0}^{\infty} (-k)^n \mu^{n+1} \frac{s^{-(n+1)\mu}}{(s^\mu + 1)^\lambda},$$

which by using Lemma 2.1, the relation (3.1) gives the solution

$$y(x) = \sum_{n=0}^{\infty} (-k)^n \mu^{n+1} x^{\mu(\lambda+1+n)-1} \times E_{\mu, \mu(\lambda+1+n)}^\lambda(-x^\mu). \tag{3.5}$$

Similarly, when $|\mu k| > |s^\mu|$ we have

$$Y(s) = \sum_{n=0}^{\infty} \frac{(-1)^n}{\mu^n k^{n+1}} \frac{s^{\mu n}}{(s^\mu + 1)^\lambda},$$

and therefore

$$y(x) = \sum_{n=0}^{\infty} \frac{(-1)^n}{\mu^n k^{n+1}} x^{\mu(\lambda-n)-1} E_{\mu, \mu(\lambda-n)}^\lambda(-x^\mu),$$

In the case $s^\mu = \mu k$, the relation (3.1) gives the solution

$$y(x) = \frac{1}{2k} x^{\mu\lambda-1} E_{\mu, \mu\lambda}^\lambda(-x^\mu),$$

or by taking $\mu k = s^\mu$

$$y(x) = \frac{1}{2} \mu x^{\mu(\lambda+1)-1} E_{\mu, \mu(\lambda+1)}^\lambda(-x^\mu).$$

Corollary 3.1 By setting $k = 0$ and $k = \frac{1}{\mu}$ in relation (3.4), we get the solution of (3.1) as follows

$$y(x) = \mu x^{\mu(\lambda+1)-1} E_{\mu, \mu(\lambda+1)}^\lambda(-x^\mu), \tag{3.6}$$

$$y(x) = \mu x^{\mu(\lambda+1)-1} E_{\mu, \mu(\lambda+1)}^{\lambda+1}(-x^\mu). \tag{3.7}$$

Here we discuss about two examples of the autoconvolution equation by starting the Mittag-Leffler type function.

Example 3.1 We consider the generalized Mittag-Leffler function

$$y = x^{\mu(n+1)} E_{\mu, \mu(n+1)+1}^\lambda(x^\mu), \tag{3.8}$$

with the Laplace transform

$$Y(s) = \frac{s^{\mu(\lambda-n-1)-1}}{(s^\mu - 1)^\lambda}.$$

We apply the first derivative of $Y(s)$

$$Y'(s) = [\mu(\lambda - n - 1) - 1] \times \frac{s^{\mu(\lambda-n-1)-2} (s^\mu - 1)^\lambda}{(s^\mu - 1)^{2\lambda}} - \frac{\lambda \mu (s^\mu - 1)^{\lambda-1} s^{\mu-1} s^{\mu(\lambda-n-1)-1}}{(s^\mu - 1)^{2\lambda}}, \tag{3.9}$$

and quadratic product of $Y(s)$

$$Y^2(s) = \frac{s^{2\mu(\lambda-n-1)-2}}{(s^\mu - 1)^{2\lambda}},$$

to construct the following relation

$$\begin{aligned} & \frac{1}{(s^\mu - 1)^{\lambda-1}} Y'(s) + \lambda \mu Y^2(s) \\ &= \frac{1}{(s^\mu - 1)^{\lambda-1}} \left[[\mu(\lambda - n - 1) - 1] \frac{1}{s} + \lambda \mu s^{\mu(\lambda-n-2)-1} \left[\frac{1 - s^{-\mu(\lambda-n-2)}}{1 - s^{-\mu}} \right] \right] Y(s), \end{aligned}$$

or

$$\begin{aligned} & \frac{1}{(s^\mu - 1)^{\lambda-1}} Y'(s) + \lambda \mu Y^2(s) \\ &= \frac{1}{(s^\mu - 1)^{\lambda-1}} \left[[\mu(\lambda - n - 1) - 1] \frac{1}{s} + \lambda \mu \sum_{k=0}^{\lambda-n-2} s^{\mu(\lambda-n-k-2)-1} \right] Y(s). \end{aligned}$$

At this point, by applying the inverse Laplace transform on the above relation term by term and using Lemma 2.1 and relations (2.13) and (2.13), we deduce that the generalized Mittag-Leffler function (3.8) satisfies the autoconvolution equation

$$(xy * x^{\mu(\lambda-1)-1} E_{\mu, \mu(\lambda-1)}^{\lambda-1}(x^\mu))$$

$$\begin{aligned}
 &= \lambda\mu(y * y) + ([1 - (\lambda - n - 1)\mu] \\
 &(y * x^{\mu(\lambda-1)} E_{\mu, \mu(\lambda-1)+1}^{\lambda-1}(x^\mu))) \\
 &- \lambda\mu \left(\sum_{k=0}^{\lambda-n-2} y * x^{\mu(n+k+1)} E_{\mu, \mu(n+k+1)+1}^{\lambda-1}(x^\mu) \right).
 \end{aligned}
 \tag{3.10}$$

Example 3.2 In the same procedure to previous example, the generalized Mittag-Leffler

$$y = x^{-n\mu} E_{\mu, 1-n\mu}^\lambda(x^\mu), \tag{3.11}$$

satisfies the autoconvolution equation

$$\begin{aligned}
 &(xy * x^{\mu(\lambda-1)-1} E_{\mu, \mu(\lambda-1)}^{\lambda-1}(x^\mu)) \\
 &= \lambda\mu(y * y) + ([1 - (\lambda + n)\mu] \\
 &(y * x^{\mu(\lambda-1)} E_{\mu, \mu(\lambda-1)+1}^{\lambda-1}(x^\mu))) \\
 &- \lambda\mu \left(\sum_{k=0}^{\lambda+n-2} y * x^{\mu(k-n)} E_{\mu, \mu(k-n)+1}^{\lambda-1}(x^\mu) \right).
 \end{aligned}
 \tag{3.12}$$

4 Application to the Boltzmann equation

In year 1872, Boltzmann introduced a nonlinear evolution equation for description of configuration of particles in a gas. In the modern literature, the Boltzmann equation is often used in a more general sense and refers to any kinetic equation that describes the change of a macroscopic quantity in a thermodynamic system [8, 9, 10, 28]. In this section, we intend to consider an autoconvolution equation for the Boltzmann equation and express its solution with respect to the generalized Mittag-Leffler function. This equation is given in the following form

$$xy(x) = (y * y)(x) + \alpha x^2 y'(x). \tag{4.13}$$

In the same manner to previous section, by using the Laplace transform we get

$$Y'(s) + Y^2(s) + \alpha(sY(s))'' = 0, \tag{4.14}$$

$$s \rightarrow \infty, sY(s) \rightarrow 1,$$

or equivalently by setting $Z = sY(s)$ we obtain

$$\alpha s^2 Z'' + sZ' - Z(1 - Z) = 0, \tag{4.15}$$

where $s \rightarrow \infty, Z(s) \rightarrow 1$. At this point, by considering the solution in the form [7]

$$Z = \frac{1}{(s^{-\beta} + 1)^2}, \tag{4.16}$$

and applying the following algebraic relations

$$Z' = 2\beta \frac{1}{(s^{-\beta} + 1)^3} s^{-\beta-1},$$

$$\begin{aligned}
 Z'' &= 6\beta^2 \frac{1}{(s^{-\beta} + 1)^4} s^{-2\beta-2} \\
 &- 2\beta(\beta + 1) \frac{1}{(s^{-\beta} + 1)^3} s^{-\beta-2},
 \end{aligned}$$

$$\begin{aligned}
 \alpha s^2 Z'' + sZ' &= 6\alpha\beta^2 \frac{1}{(s^{-\beta} + 1)^4} s^{-2\beta} \\
 &- 2\beta(\alpha\beta + \alpha - 1) \frac{1}{(s^{-\beta} + 1)^3} s^{-\beta},
 \end{aligned}$$

$$Z(1 - Z) = \frac{1}{(s^{-\beta} + 1)^2} - \frac{1}{(s^{-\beta} + 1)^4},$$

we rewrite the left hand side of (4.15) as

$$\begin{aligned}
 &\alpha s^2 Z'' + sZ' - Z(1 - Z) \\
 &= \frac{6\alpha\beta^2 s^{-2\beta} + 1}{(s^{-\beta} + 1)^4} \\
 &- \frac{([2\alpha\beta^2 + 2\beta(\alpha - 1)] + 1)s^{-\beta} + 1}{(s^{-\beta} + 1)^3}.
 \end{aligned}
 \tag{4.17}$$

If $\alpha\beta^2 = -\frac{1}{6}$ and $(\alpha - 1)\beta = -\frac{5}{6}$ ($\beta = \frac{1}{2}, \alpha = -\frac{2}{3}$ or $\beta = \frac{1}{3}, \alpha = -\frac{2}{3}$), then we observe that this equation is identical to zero and the equation is satisfied. This means that there are exactly two solutions for the Boltzmann equation in the form of (4.16). Therefore, the Laplace transform of solution of the Boltzmann equation is

$$Y(s) = \frac{1}{s(s^{-\beta} + 1)^2}, \quad \beta = \frac{1}{2}, \frac{1}{3}, \tag{4.18}$$

which implies that the solution is

$$y(x) = x^{-2\beta} E_{-\beta, 1-2\beta}^2(-x^{-\beta}), \quad \beta = \frac{1}{2}, \frac{1}{3}. \tag{4.19}$$

References

- [1] A. Ansari, A. R. Sheikhani, *New identities for the Wright and the Mittag-Leffler functions using the Laplace transform*, Asian-European Journal of Mathematics 7 (2014) 1450038-1450046.
- [2] L. Berg, *Einführung in die Operatorenrechnung*, Deutscher Verlag der Wissenschaften, Berlin, (1957).
- [3] L. Berg, *Operatorenrechnung, I. Algebraische Methoden, II. Funktionentheoretische Methoden*, Deutscher Verlag der Wissenschaften, Berlin, (1974).
- [4] F. Bernstein, *Die Integralgleichung der elliptischen Thetanullfunktion*, Sitzungsberichte der preussischen Akademie der Wissenschaften, Physikalisch-Mathematisch Klasse 1920 (1920) 735-747.
- [5] F. Bernstein, G. Doetsch, *Die Integralgleichung der elliptischen Thetanullfunktion*, Dritte Note, Nachrichten der Gesellschaft der Wissenschaften in Göttingen, Mathematisch-Physikalisch Klasse 1922 (1922) 32-46.
- [6] F. Bernstein, G. Doetsch, *Über die Integralgleichung der elliptischen Thetanullfunktion*, Jahresbericht der Deutschen Mathematiker-Vereinigung 31 (1922) 148-153.
- [7] A. V. Bobylev, C. Cercignani, *Exact eternal solutions of the Boltzmann equation*, Journal of Statistical Physics 106 (2002) 196-203.
- [8] A. V. Bobylev, C. Cercignani, *The Inverse Laplace Transform of some Analytic Functions with an Application to the Eternal solutions of The Boltzmann Equation*, Applied Mathematics Letters 15 (2002) 807-813.
- [9] C. Cercignani, *The Boltzmann Equation and its Applications*, Springer-Verlag, New York, (1988).
- [10] C. Cercignani, R. Illner, M. Pulvirenti, *The Mathematical Theory of Dilute Gases*, Applied Mathematical Sciences, Berlin, New York: Springer-Verlag, (1994).
- [11] A. Erdélyi, *Higher Transcendental Functions*, McGraw-Hill, New York-Toronto-London, (1955).
- [12] R. Garra, R. Gorenflo, F. Polito, Ž. Tomovski, *Hilfer-Prabhakar derivatives and some applications*, Applied Mathematics and Computation 242 (2014) 576-589.
- [13] R. Gorenflo, F. Mainardi, *Fractional calculus: integral and differential equations of fractional order*, in: A. Carpinteri, F. Mainardi (Eds.), *Fractals and Fractional Calculus in Continuum Mechanics*, Springer Series on CSM Courses and Lectures, Springer-Verlag, Wien 378 (1997) 223-276.
- [14] R. Gorenflo, F. Mainardi, H. M. Srivastava, *Special functions in fractional relaxation-oscillation and fractional diffusion-wave phenomena*, in: D. Bainov(Ed.), *Proceedings of the Eighth International Colloquium on Differential Equations* (Plovdiv, Bulgaria; August 18-23, 1997), VSP Publishers, Utrecht and Tokyo (1998) 195-202.
- [15] R. Gorenflo, A. A. Kilbas, S. V. Rogosin, *On the generalized Mittag-Leffler type function*, Integral Transforms and Special Function 7 (1998) 215-224.
- [16] R. Hilfer, H. Seybold, *Computation of the generalized Mittag-Leffler function and its inverse in the complex plane*, Integral Transform and Special Function 17 (2006) 637-652.
- [17] A. A. Kilbas, M. Saigo, *On Mittag-Leffler type function, fractional calculus operators and solutions of integral equations*, Integral Transform and Special Function 4 (1996) 355-370.
- [18] A.A. Kilbas, M. Saigo, and R.K. Saxena, *Generalized Mittag-Leffler function and generalized fractional calculus operators*, Integral Transforms and Special Function 15 (2004) 31-49.
- [19] A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, *Theory and Applications of Fractional Differential Equations*, North-Holland

- Mathematical Studies, 204, Elsevier (North-Holland) Science Publishers, Amsterdam, (2006).
- [20] F. Mainardi, *Fractional Calculus and Waves in Linear Viscoelasticity*, London: Imperial College Press, (2010).
- [21] G. M. Mittag-Leffler, *Sur la nouvelle fonction Eax*, Comptes Rendus de l'Académie des Sciences, Paris 137 (1903) 554-558.
- [22] G. M. Mittag-Leffler, *Sur la représentation analytique d'une fonction monogène (cinquième note)*, Acta Mathematica 29 (1905) 101-181.
- [23] T. R. Prabhakar, *A singular integral equation with a generalized Mittag-Leffler function in the kernel*, Yokohama Journal of Mathematics 19 (1971) 7-15.
- [24] M. Saigo, A. A. Kilbas, *On Mittag-Leffler type function and applications*, Integral Transform and Special Function 7 (1998) 97-112.
- [25] H. J. Seybold, R. Hilfer, *Numerical results for the generalized Mittag-Leffler function*, Fractional Calculus and Applied Analysis 8 (2005) 127-139.
- [26] H. M. Srivastava, Ž. Tomovski, *Fractional calculus with an integral operator containing a generalized Mittag-Leffler function in the kernel*, Applied Mathematics and Computation 211 (2009) 198-210.
- [27] Z. Tomovski, R. Hilfer, H. M. Srivastava, *Fractional and operational calculus with generalized fractional derivative operators and Mittag-Leffler type functions*, Fractional Calculus and Applied Analysis 21 (2010) 797-814.
- [28] C. Villani, *A review of mathematical topics in collisional kinetic theory*, Handbook of mathematical fluid dynamics 11 (2002) 7174
- [29] L. Von Wolfersdorf, *Einige Klassen Quadratischer Integralgleichungen*, Sitzungsberichte der Sächsischen Akademie der Wissenschaften zu Leipzig, Mathematisch-Naturwissenschaftliche Klasse, Band 128, Heft 2, Hirzel, Stuttgart-Leipzig, (2000).
- [30] L. Von Wolfersdorf, *Autoconvolution equations and special functions*, Integral Transforms and special functions 19 (2008) 677-686.
- [31] L. Von Wolfersdorf, *Autoconvolution equations and special functions II*, Integral Transforms and special functions 21 (2010) 295-306.



Shiva Eshaghi has received her B. Sc. and M. Sc. degrees in applied mathematics from Shahrekord University in years 2013 and 2015, respectively. Now, she is teaching mathematics and her research interests are in the areas of applied mathematics including differential equations and fractional calculus.



Alireza Ansari is assistant professor and an academic member at department of applied mathematics, faculty of mathematical sciences, Shahrekord University. He received his Ph.D. degree from University of Guilan in year 2011. Now, he has published more than 30 papers in international journals and conferences. His research areas include fractional differential equation, integral transforms and special functions.